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Answer the following addition and subtraction
equation rows:

6+6= S—ﬁ= 9-3= 13-4 = J'-’|—1=
14 + 5 = 2+1?= T1-4= 4+ 9 = 4‘5}—2=
9-7= 3+?= 15-1-= 20-10 = 10—5=
2+ 11 = é53+11= 14 -7 = 17+ 2 = 2+3=
32+ 15 = 13 -2 = 29 + 3 = 6+4= 15-6 =
_-;-—“;: ------ 11+ 5= 18 -5 = T+ S= ---------- -ﬁ + 6= _
20410- | 18-4- 3ess  20-195  4ro-
8-2-= 10+ 0= §+8= 14 + 2 = 1-2=
e1e 1354 | 17-2e | 9-4e  |1901e
""" 1= |12-9= |3er=  |5es-  |15-9=
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5) 16 6) 23 7)) 12 8) 55
— 50 e+ 30 70 et 20
9) 13 10) 56 11) 10 12) 80
et 10 —+10 —+ 18 —t 18
13) 50 14) 90 15) 70 16) 16
— 32 —t 5 —t 15 et 20
17) 27 18) 35 19) 24 20) 12
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1) 100
- 40
5) 62
.22
9) 88
- 70
13) 90
- 90

Solve the following subtraction column ec

2) 78
- by
&) 98
- 70
10) 96
- 'I.'[l
14) 80
- 20

3) 82
- 60

7) 83
- 71

11) 79
- 68

15) 95

- 710

4) 98
- 82
8) 85
- 80
12) 55
. 30
16) 80
57
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Multiplicatio

Arrays

Write two multiplication sentences for each array.
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2x 1=
2x 2=
2x3=
2 x4 =
2x5=
2xb=
2% 7 =
2x8 =
2x9=
2 x 10 =

10x1=
10 x2=
10x 3=
10 x 4 =
1M0x5=
10x 6=
10x7 =
10 x 8=
10 x99 =
10x 10 =

5x1
Gxld=
5x3=
Sx4=
5 x5 =
Sxb6=
Sx /=
Sx8 =
Sx9=
5x 10 =
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Write two division sentences for each array.

[ ] ] ]
e e e
C::__ . & 9 e ® o @ @
® & 8 o> " s @
* ® o @ @
) & o ]
T e e o
il U] ]
| 12 + 3 =&
|
| 12 + &4 = 3
L L L L O W I ]
B O B OB B B N B N
. = = TR E
- - & B N B OO B BN NN B N
- " 6 e
* o o tessssssns
- - - L I N ]
- - & R B O OB OB B BN N B N




L

ASPIRE

INTERNATIONAL SCHOOL

Aspire International School

2+=2 = 5+ 5=
& = 2 = 10 + 5 =
6+ 2= 15 + 5 =
8+2 = 20 + 5 =
10+ 2 = 25 + 5 =
12+ 2 = 30 + 5 =
14 + 2 = 35+ 5=
16 + 2 = 40 + 5 =
18 + 2 = 45 = 5 =
20+ 2 = 50 + 5 =

10 =+ 10 =1
20 =10 = 2
30 =10 =3
40 =10 = &4
50 +10 =5
60 +10 =6
70 +10 =7
80 = 10 = &
90 - 10 =9



